ABXI-¥ EEEH

THA4FE BETHELNE

A| B |EAl ® H i = oA e[ B £
4 12| 0 |xfF£ |HIEE ABK™ 1,200, 000 1,200, 000
5 2 1 |FHEE eSS mE BH #H—8 10, 000{ 1, 190, 000
512 | 1 |BHEE |HHERE BA #H—0 78,740| 1,111,260
5 9 2 [FAEMRE|XRBE 4AD) b 10 5,000]| 1,106, 260
59| 5 |EHBAZ | REBAR PR R 6,820 1,099, 440
5111 ] 1 |HHEE eSS ME b 10 30, 000] 1,069, 440
5 (11 ] 9 |=%E |[RAFHH PR R 770| 1,068, 670
5111 ] 1 |HEE HERE b 10 18,740 989, 930
5116 | 2 |FABHEE|(XEE UAD) FRER =5A 10,000 979,930
5 131 | 2 |FAEHARE |XEE GAD) b 10 10, 000 969, 930
6 6 2 [FAEHRE|XBE GAMD) BREEM &5h 8, 000 961, 930
6 1 1 |BHEE HE=SmE KEE X 28, 000 933, 930
6 (7] 9 |2%E |[RAFHH KEg X 550 933,380
6 1 1 |BHEE HERE KEE X 18,740 854, 640
6 | 23| 9 |E=EHE BIEE (47Ly k- 489 KERE BHER A 9,592 845, 048
6 | 30| 2 |FABHAEE|[XEE (6B) i 1S 7,000{ 838,048
7113 9 |=%E BIEE (A7Ly 5% KKREF BEH =H-h 9,592 828, 456
7119 2 |AEHARE |REE (6B5) BEM H5h 9,000 819, 456
7120 0 |XfT& 2B H AB K 1, 200, 000 2,019, 456
8 | 1| 2 |FAEHEE|(XEE (TAD) i 1S 10,000 2, 009, 456
8 4 2 [FAEmRE|XEBEE (TA®D) R i 10, 000( 1,999, 456
818 | 1 |HHEE |HHERE BH #H—8 67,060[ 1,932,396
8 8 1 |BHEE eSS ME BHH #H—m8 15,000 1,917, 396
8 | 23| 9 |=%E |&Ez sILyur-6A%) [KREE BLE@E i 9,592| 1,907, 804
9 2 2 [FAEMRE|XBE BAD) b 10 10, 000{ 1,897, 804
9 |16 | 2 |FAEMARE |XEE BAD) M &5h 10, 000{ 1, 887, 804
9 | 27| 9 |=H%E BER #TLvbk-1A%) REE FEAE I 9,592| 1,878,212
10] 5 2 [FAEMRE|XBE 9AD) Pt EE 9,000] 1,869,212




ABXI-¥ EEEH

THA4FE BETHELNE

A | B [EE|l ® B i = R Al X H[BE £

10 2 |REHARE |REE AR FEH =i 9,000| 1,860, 212
10 14| 1 |HHEE PHERE (RR) BH #H—8 96, 140] 1,764,072
10] 14 ] 5 |EHNBAZ |HEBAK Rt EE 3,200| 1,760,872
10 14| 1 |HHEE HE=SmE HH #H—m8 30, 000] 1,730,872
10| 14| 9 |[=7%%& oA F 5wt BEH #H—8 7701 1,730,102
10 17| 1 |HHEE HE=SmE I ¥ 45,000 1,685,102
101 17] 9 |=%E R SUE e [ %z 770{ 1,684,332
10 17| 1 |HHEE HERE (L&) I ¥ 140, 940{ 1, 543, 392
1017 1 [BHEE  |BHESSME BROK—EB, PitER 30, 000f 1,513,392
101 17] 9 |=HE #R3A F 8500 R OK—BR, hifEEL 770 1,512,622
1017 1 |#HEE PHERE (FRAR) ®OK—8R 67,060 1,445,562
10 17| 1 |HHEE PHERE (R#R) Pt EE 67,060] 1,378,502
10|20 0 |ZXfT& FE3EAE AB K 1, 200, 000 2,578,502
10121 9 |=HE BEE (5T7Lv k-8R |(KKEF BLEH =5 9,592 2,568,910
1] 4 2 [FAEMRE |RBEE (10B4) M &5h 7,000{ 2,561,910
11| 14| 2 FAEHARE |XEE (10AH) it EE 10,000 2,551,910
11|18 1 |[#HEE eSS mE wE  RE 30,000] 2,521,910
11118 9 |=%%E oA F 5w wiE RE 770 2,521,140
11118 | 1 |HHEE PHERE (L&) weE RA 140, 940{ 2, 380, 200
1M1 21 1 |HEE HE=SmE Rt EE 30, 000] 2, 350, 200
21 9 |=%E #R3A F 800 Pt EE 770{ 2,349, 430
1|21 1 [HEE  [BHEKRE (L&) i tEE 140,940 2,208, 490
11 24| 9 |=HE BEE (8T7Lv k989 |(KKEF BLEH =5 9,592 2,198, 898
12 6 2 |REHRE |REE (11AHD) it EE 10, 000| 2,188, 898
12116 | 2 |AEHRE |XEE (11AR) R 5 6,000] 2,182,898
1220 9 [=%E |&Ez givyr-1089 [REE BER ik 9,592| 2,173,306
1 10| 2 |FAEHARE|RBE (12A5) Pt EE 10, 000 2,163, 306
1 13| 2 [FAEMARE |RBEE (12B4) EEM &5h 8,000] 2,155, 306




ABXI-¥ EEEH

THA4FE BETHELNE

A | B [EEB| ®# B 1 = I A X H | & £
1 (2] 0 |%t& [H4@E ABBKTH 1,200, 000 3, 355, 306
1| 27] 1 |BHMEE  |BHEIRE (R#4D) BEH #H—H 67,060 3,288, 246
1|27 1 |6HEE |HHESSME BE #H—8 25,000| 3,263, 246
1127] 9 |E=8E |R2AFHH BH #H—H 550( 3,262, 696
1 13| 9 (=% |szz wivvr-11As |[REE BE@RE i 9,592| 3,253,104
2 | 7| 2 |AEHERE[ZEE (1BSH) i 10, 000{ 3,243, 104
2 | 14| 2 |AEHERE|[ZEE (1BH) FEE %A 9,000{ 3,234,104
2 | 24| 9 |=%E  |EEz gILyr-2E REE BLZE Zi 9,592| 3,224,512
3| 3| 2 |AEMEE|REE (2ASH) hA 15 5,000| 3,219,512
3| 14| 9 [EHE  |aEm sILyrAs~An RERE BER A 28,776| 3,190, 736
3 116| 5 [AHEAL|REBAL BH #H—H 82,676 3,108, 060
3|27 2 |AEWEE|[ZEE 2AH) REE Hih 9,000{ 3,099,060
31|27 2 |AEHERE|ZEE GAH) REME %A 4,000 3,095,060
3|27 2 |FAEHEE|ZEE GAH) b e 8,000{ 3,087,060
RitE 3,087, 060
4,800,000 1,712,940| 3,087,060
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